Mrs. Gregory & Mrs. Postlethwuite's group — Bronze reasoning and problem solving

1a. Match the pairs. Which is the odd one

out?
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1b. Match the pairs. Which is the odd one
out?
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2a. Cecil the centipede travels 0.5m in

one hour. Annie the ant Trqvels%m in

one hour. Who travels furthest?

Explain how you know.
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2b. Freddy the frog can hop 5m in 0.25 of

a minute. Tommy the toad can hop 5m in

2
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of a minute. Who can hop 5m the

Explain how you know.
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3a. I'm thinking of a decimal.
The tenths digit is five.
It is equal to one half.

What is my decimal?
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3b. I'm thinking of a fraction.

The denominator is 4.

It is equivalent to 0.25.

What is my fraction?
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